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VOCABULARY

Complete the statements with: recycling - educational - sustainable
- iInvestments - illiteracy - equality - developing - graduates

1. Finland has a great system.
2 countries need socio-economic reforms.
3. Adult IS one of the causes of poverty.
4. One of the goals of development is to
eliminate poverty by 2030.
. Private can help reduce unemployment.
. Gender is still a problem in many countries.
. A great deal of university can’t find a job.
wastes is an efficient way to stop

landfills.



FUNCTION

Match the clauses

1. Education is a vector of economic growth.
2. Because of illiteracy,
3. Due to climate change,
4. Young Moroccan engineers prefer to go abroad

a. so as to look for better opportunities.

b. many animal species are endangered.

c. a great deal of people can’t find adequate jobs.

d. Therefore, the government allots a huge budget to this
sector.
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1.

2.

3.

GRAMMAR

Put the verbs in the correct tense.

In 2008, the world (experience) a severe financial
CriSIs.

Before moving to Canada, Amine (apply) for an
Immigrant visa.

By the end of 2025, he (move) to another
country.

. Due to technology, many jobs (disappear) by

2030.
you (find) a new job by the end of this

year?

. He (have) a long experience before he joined our

company.



